
Appendix 2 Pretest 1nd Postlest Solutions
~ I '

Pretest 1Olutions
These pretest sol tions have been
provided to help stud nts understand how
to do those pretest roblems answered
incorrectly. If looking at the solution does
not make the math required to do the
problem clear, study e learning unit that
matches the problem'd number.

1) Which number is six thousand two hundre~12) Round 5,345 to the nearest hundred.
nine?

IA) 6,290 B) 6,209 5,300

C) 6,909 D) 6,299 Answer - B

3A) 36 + 472 + 8 = 13B) 502 - 58 =

36
472

+~
516

4A) (206)(35) =

502
- 58
444

206
x 35
1030
618

7,210

1,0 9 1
4B) 5 6 ) 6 1 0 9 6

5 6
5 0
0 0
509
504

5 6
5 6

0

A) 7 D) 15

5) Simplify 16) Which of the follo~ing is not a prime

24 + (6 - 3)(4)- 52 I number?

24 + (6 - 3)(4) - 52

24 + (3)(4) - 25

24 + 12 - 25

36 - 25

11

7) Which of the following
is lessthan ~ ?

B) 11 ) 13
A) ~5

C) 1216

B) ~5

D) 1316

Answer D

Fifths are smaller than
fourths so 3/5 is smaller
than 3/4.

Answer~

05

Owner
Text Box
Education Improvement Internet Library has free material  for teachers, administrators, and parents.

Owner
Text Box
Our 28 Free Internet Libraries have academic and career materials for students, teachers, and professionals.

Owner
Text Box
Our Student Internet Library
has free material for students,
teachers, and parents.

Owner
Text Box
Education Internet Library covers the economics of education, reforming education ...

http://www.businessbookmall.com/Educational%20Improvement%20Internet%20Library.htm
http://www.businessbookmall.com/Free%20Internet%20Libraries.htm
http://www.businessbookmall.com/Student%20Internet%20Library.htm
http://www.businessbookmall.com/Education%20Internet%20Library.htm


8) Write an equivalent
fraction for ~.

5

~--
5 - 20

~ - 3x4 - 12
5 - 5x4 - 20

11) 241 + ~ =

13B)

3 2

~ --B--
= -x-

~~
1 1

=6

6+~ -
7 -

=
6 3---
1 . 7

9) ~+ ~ =
7 7

~=~
7l17

12) 41_21 =i4 3 I

4 1 4 ~ 4 3 3 15
4" = + ill = 12 = 12

-21 = -2 + 1.t.1 =
3 3f4 -2..i.

~
111

12

=

2

--s 7-x-
1 -s-...

1

-

10) !!_1-
9 6-

!! - 8x2 - 16
9 - 9x2 - 18

_1 - 4x3- - 12
6 - 6x3 - 18- -

..i. - ~
18 - 9

= 14

13A) 25 x3~ =
5

- '25-x fl- 1 --s-.
1

= 85

Note: Borro ing was required.

14) Which 0 the following
1

15) Round 3456.3764
is small st? to the nearest

hundredth.
A)

1

6.186
B) 6.086
C) 6.400
D) 6.350

Answer B

16A) 7.4 + 63.44 + 22.9 + 12.015 =

17)

111

07.400
63.440

+ 22.900
12.015

105.755

.4 }56
1 4 O.

. 4 .) 5 6. O.
'---44~

1 6
1 6

0 0
0 0

0

16B)

3,456.38

4.3 x 6.27 =

6.27
x 4.3
1881

2508
26.961

18) A clas of 24 students has 19) Choose the correct
14 mal s. Write the ratio symbo\.( >, <, = )
of mal s to the full class.

I.t 14 - 1...
11fi':24or 24 - 12

206

3 9- -
7 - 21

3x21 ?7x9

63 = 63

~-1..
7 - 21



20) Solvefor x.

~-L
8 - 24

(3)(24) = (8)(x)

8x= 72

x=9

II

23A) What is 7% of 40?

..L-L
100- 40

(7)(40) = (100)(x)

280 = 100x

x= 2.8

24A) If something increases
from 20 to 30, what is
the percent increase?

change = 30 - 20 = 10

2...- 10
100 - 20

20x = (100)(10)

20x = 1,000

x = 50%

25B) (.4)2 =

.4
x.4
.16

21A) Write 1/51~sa percent.

1 X 100% 1100% = 20%5 1 1 5

21B) Write.6 ~s a percent.

.6 x 100% = 60%

23B) 20 is 40% of what
number?

~ I[20
100 =ff x

40x ~ (100)(20)

40x :jI:2,000

x* 50

22A) Write 45% as a fraction.

45 1 45( )(100) = 100

..§..- 45+5 - JL
100 - 100+5 - 20

22B) Write 8% as a decimal.

8 x .01 = .08

23C) 8 is what percent of 40?

2... - JL
100 - 40

40x = (100)(8)

40x = 800

x = 20%

24B) What is ~re result when I25A)
30 is dedreasedby 25%?

(12)2 =

use a proportion to
deterri1inechange

25 L x
100 r 30

(25)(30)t100x

750 100x

answer is 30 - 7.5 = 22.5

x IF 7.5

25C) J64 =

8

Note: 8 x 8 = 64

207

12
x 12

24
-1£
144

25D) J.09 =

.3

Note: .3 x .3 = .09




